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a> wite option to port 1 (a0=1 al=0) . .
bi t 7=1 ‘ 0 read/ wite tine
bl t6=1Y (=1 ) BIT7| BIT6 B BITO Y=0 X=79 X 0 1
bit[5..4] % AO..1]
bit3 X (=1 ) (0,0) (0,79) B
bit2=l 0 — " — oo.7
bit[1..0] / J cs
- - " ; ; ) S
b>.read port 1 (a0=1 al=0) ,this step is lock option
2.wite X e N 7 RD
a>wite bit[6..0] of X to porti( X6..0]->06..0]) 8 |
3.witeY % é 8nS
a>wite bit8 of Y to port2 (a0=0,al=1)( Y8->[0) =1 / (239,0) =239 (239,79)
a>wite bit[7..0] of Y to port2 (a0=0,al=1)( Y0..71->00..7])
4. wite data (0.0 ¥=0 (0.79) X X AO..1]
a>wite X(if used current Xskip this step)
b>wite Y(if used current Y,skip this step) Do..7]
c>wite data to portO (a0=0, al=0) cs
5.read data
a>wite Y(if used current Y,skip this step) | VIR
b>write bit[7..0] of Xto port3(a0=L,al=1) T N
c>read data from port 0 (a0=0, al=0) g >20nS
(239,0) e (239,79 % é
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